DIVISION WITH A REMAINDER (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—
1s1) 923731 =5 = 196) 30500 + 8 =
152) 1185 = 1 = 7). 65929 + 10 =
183) 3156 =9 = 198) 26865 =7 =
18) 38604 =— 7 = 199) 14127 -5 =
135 28008 = & = 2000 67109 =9 =
156) 27793 — 6 = 20y 13102 =5 =
187) 759 = 4 = 202) 34085 + 9 =
188) 5290 = 9 — 203) 34173 +4 =
159) 56862 =— & = 209) 59513 = 8 =
190) 73603 + 10 = 209 2180 + 3 =
1) 67230 = 10 = 2060 688606 = 10 =
192) 57964 =— 6 = 20 57890 = 6 =
193 2502 = 3 = w8 2721 + 1=
199) 41802 = & = 209 14491 = 2 =
195 33690 + 5 = 2002602+ 1=
Mathematics: Division - Level 7 - Horizontal - Set 2 8 culu
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